void stat1(){
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cj-stat.c )/ FHI . AA S . total = O;
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displayFreq();
int freq] |,total=0; void init{int n){
FILE *fp; int i1; init(26);
. total=0; ’
mant . gy for (i=0; ) freq[ 1=0;
- y ’ }
stat1(); freq[i]
stat2(); N 885 4.20% 8 T
fclose(fp); 0 1115 5.30% 5 void displayFreq(){
1 Q 529  2.51% 24 for(i=0;i<26;i++){
. R 1255 5.96% 3 Lintf
freq[il s 713 3.39% 16 P
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2fls 236 (4.46%) U 636  3.02% 20
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void stat2(){

_cha_r s[10]; IE?;ZI[OZ]SO
Int 1,n; freq[1]=0; //1@?5

init(6); freq[2]=0; //2{i5
freq[3]=0; //3@%
freq[4]=0; //4@%

while ( N freq[5]=0; //5@%
fgets
s[strlen(s)-1] = ;
if( feof(fp) ) break; s="F,AB"
n =
++;
++;
¥
displayFreq2();

void displayFreq2(){

inti;

for(i=1;i<6;i++){
printf

¥

printf("%8i\n",total);
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